## SOME METHODS OF INTEGRATION OF IRRATIONAL FUNCTIONS

## Z.Zaparov

Andijan agriculture and agrotechnologies senior teacher of the institute


#### Abstract

The article discusses the issues of teaching and learning mathematics. The integration of functions, which is one of the main concepts of mathematics, is taught to students in simple ways. For this, it is taught from the integration of the simplest functions to the integration of irrational functions.

Key words. Irrational number, irrational function, integral, binomial integral, Euler substitutions, integration of irrational functions, methods of integration.


1. Integration of irrational functions. If the function $\mathrm{y}=\mathrm{f}(\mathrm{x})$ consists of an algebraic expression with fractional levels of the argument $x$, we call it an irrational function.

* D Originally called the binomial integral an

$$
I(r, s, p)=\int x^{r}\left(a+b x^{s}\right)^{p} d x
$$

we look at the integrals that appear. Here $r, s, p$ represent rational numbers and $\mathrm{a}, \mathrm{b}$ represent real numbers. If all three numbers $\mathrm{r}, \mathrm{s}, \mathrm{p}$ are integers, then a rational function is formed under the integral, and in this case, the binomial integral is expressed in elementary functions. If at least one of the numbers $r, s, p$ is not an integer, then an irrational function is formed under the binomial integral. It was proved by the great Russian mathematician P. L. Chebyshev (1821-1894) that the binomial integral can be expressed in elementary functions only in the following three cases:

1) $p$ is an integer. In this case, we make a substitution ( $m$ is the common denominator of the numbers $r$ and $s$ under the integral). If we take $r=k / m, s=q / m$, then and is a binomial integral

$$
I(r, s, p)=m \int t^{k+m-1}\left(a+b t^{q}\right)^{p} d t
$$

takes the form and comes to the integral obtained from the rational

$$
\text { function. } \quad I=\int \frac{d x}{x(1+\sqrt[3]{x})^{2}}
$$

we calculate the integral. This is a binomial integral with parameters $\mathrm{r}=1$, $\mathrm{s}=1 / 3$ and $\mathrm{p}=-2$, and calculating it using substitution based on the above, we get
this result: $I=\int \frac{3 t^{2} d t}{t^{3}(1+t)^{2}}=3 \int \frac{d t}{t(1+t)^{2}}=3\left[\int \frac{d t}{t}-\int \frac{d t}{t+1}-\int \frac{d t}{(t+1)^{2}}\right]=$

$$
=3\left[\ln |t|-\ln |t+1|+\frac{1}{t+1}\right]+C=3\left[\ln \left|\frac{\sqrt[3]{x}}{1+\sqrt[3]{x}}\right|+\frac{1}{1+\sqrt[3]{x}}\right]+C .
$$

2) $n=(r+1) / s-$ whole number. In this case, if $\mathrm{p}=\mathrm{k} / \mathrm{m}$, then the substitution $a+b x s=t m$ is used. In this

$$
\left(a+b x^{s}\right)^{p}=t^{k}, \quad x^{r}=\left(\frac{t^{m}-a}{b}\right)^{\frac{r}{s}}, \quad d x=\frac{m}{b s}\left(\frac{t^{m}-a}{b}\right)^{\frac{1}{s}-1} t^{m-1} d t
$$

is, and the binomial integral comes to the following integral with rational fractions:

$$
I(r, s, p)=\frac{m}{b^{n} s} \int\left(t^{m}-a\right)^{n-1} t^{k+m-1} d t
$$

3) $n=p+(r+1) / s$ - whole number. In this case, if $\mathrm{p}=\mathrm{k} / \mathrm{m}$, then The substitution $\mathrm{ax}-\mathrm{s}+\mathrm{b}=\mathrm{t}$ is used. In this

$$
\begin{gathered}
x=\left(\frac{a}{t^{m}-b}\right)^{\frac{1}{s}}, \quad\left(a+b x^{s}\right)^{p}=x^{p s}\left(a x^{-s}+b\right)^{p}=\left(\frac{a}{t^{m}-b}\right)^{p} t^{k}, \\
x^{r}=\left(\frac{a}{t^{m}-b}\right)^{\frac{r}{s}}, \quad d x=-\frac{m a}{s}\left(\frac{a}{t^{m}-b}\right)^{\frac{1}{s}-1} \frac{t^{m-1}}{\left(t^{m}-b\right)^{2}} d t \\
I(r, s, p)=-\frac{m a^{n}}{s} \int \frac{t^{k+m-1}}{\left(t^{m}-b\right)^{n-1}} d t .
\end{gathered}
$$

* $\quad I=\int R\left(x, x^{\frac{m}{n}}, \ldots, x^{\frac{r}{s}}\right) d x$ we look at integrals of the form In this case, only rational operations are expressed with respect to the variables x , $\mathrm{xm} / \mathrm{n}, \ldots, \mathrm{xr} / \mathrm{s}$ included in R , and $\mathrm{m}, \mathrm{n}, \ldots, \mathrm{r}$, s are natural numbers. To calculate this integral, we find the common denominator k of the fractional degrees
participating in it and perform substitution. In this case, $\mathrm{x}, \mathrm{xm} / \mathrm{n}, \ldots, \mathrm{xr} / \mathrm{s}$ fractional exponent degrees are represented by whole degrees of the new variable $t$, and as a result we create a rational fractional integral. Calculating this integral and taking the result as $\mathrm{t}=\mathrm{x} 1 / \mathrm{n}$, we find the given indefinite integral. $I=\int R\left[x,\left(\frac{a x+b}{c x+d}\right)^{\frac{m}{n}}, \ldots,\left(\frac{a x+b}{c x+d}\right)^{\frac{r}{s}}\right] d x$ Let's look at the integral in the form Here the conditions set in the previous integral for $\mathrm{R}, \mathrm{m}, \mathrm{n}, \mathrm{s}, \mathrm{r}$ are preserved. For real numbers $a, b, c$ and $d$ in fractions, we set the condition $a / b \neq c / d$, because if this condition is not fulfilled

$$
\frac{a x+b}{c x+d}=\frac{b}{d} \cdot \frac{\frac{a}{b} x+1}{\frac{b}{d} x+1}=\frac{b}{d}
$$

and the irrationality in the integral disappears.
If the common denominator of fractions $\mathrm{m} / \mathrm{n}, \ldots, \mathrm{r} / \mathrm{s}$ is k , then to calculate this integral

$$
\frac{a x+b}{c x+d}=t^{k}, \quad t=\sqrt[k]{\frac{a x+b}{c x+d}}
$$

we will do the exchange. In this case

$$
x=\frac{b-d t^{m}}{c t^{m}-a}, \quad d x=\frac{m t^{m-1}(a d-b c)}{\left(c t^{m}-a\right)^{2}} d t
$$

that is, x and dx are rationally represented by a new variable t . Therefore, as a result of the above substitution, we get the integral of the rational function for the given integral. By calculating this integral and replacing $t$ with its above expression in the resulting result, we find the answer of the given integral I.

For integrals of the form Such integrals with an irrational expression are reduced to rational fractional integrals and calculated using the substitutions proposed by the great Swiss mathematician L. Euler (1707-1783). Three cases are considered here.

Case I. In this case, the considered IE is taken as $\mathrm{a}>0$ in the integral. In this case, the integral from the variable x to the new variable t is called Euler's

is passed through the visible switch. In this case, IE is expressed as a rational fraction through the new variable $t$ in the integral $x$, and $d x$. So, the considered IE integral was reduced to a rational fractional integral, and the intended goal was achieved.

II hol. Now

$$
i=\prod_{x v x^{2}+4}^{a}
$$

Let $c>0$. In this case, we use this Euler substitution II to calculate the integrallE:

$$
\sqrt{a x^{2}+b x+c}=x t+\sqrt{c} .
$$

As a result of this substitution, we arrive at a rational fractional integral. As an example, we calculate this integral:.

$$
I=\int \frac{\left(1-\sqrt{1+x+x^{2}}\right)^{2}}{x^{2} \sqrt{1+x+x^{2}}} d x
$$

According to Euler's substitution II, we get:

$$
\begin{aligned}
& \sqrt{1+x+x^{2}}=x t+1 \Rightarrow 1+x+x^{2}=x^{2} t^{2}+2 x t+1 \Rightarrow x=\frac{2 t-1}{1-t^{2}} \Rightarrow \\
& d x=\frac{2 t^{2}-2 t+2}{\left(1-t^{2}\right)^{2}} d t, \quad \sqrt{1+x+x^{2}}=x t+1=\frac{t^{2}-t+1}{1-t^{2}} \Rightarrow \Rightarrow 1-\sqrt{1+x+x^{2}}=\frac{-2 t^{2}+t}{1-t^{2}} .
\end{aligned}
$$

We put these generated expressions into the given integral:

$$
\begin{array}{r}
\int \frac{1-\sqrt{1+x+x^{2}}}{x^{2} \sqrt{1+x+x^{2}}} d x=\int \frac{\left(-2 t^{2}+t\right)^{2}\left(1-t^{2}\right)^{2}\left(1-t^{2}\right)\left(2 t^{2}-2 t+2\right)}{\left(1-t^{2}\right)^{2}(2 t-1)^{2}\left(t^{2}-1\right)^{2}\left(t^{2}-t+1\right)} d t= \\
=-\frac{2\left(\sqrt{1+x+x^{2}}-1\right)}{x}+\ln \left|\frac{x+\sqrt{1+x+x^{2}}-1}{x-\sqrt{1+x+x^{2}}+1}\right|+C .
\end{array}
$$

III hol. The quadratic triangle under the considered IE integral has real roots $\checkmark$ and $\vee$, that is, let the discriminant be $\mathrm{D}=\mathrm{b} 2-4 \mathrm{ac}>0$. In this case

$$
\sqrt{a x^{2}+b x+c}=(x-\alpha) t
$$

using Euler's III substitution in the form, we convert the expression under the integral into the form of a rational fraction.

Here the quadratic triangle $2+\mathrm{x}-\mathrm{x} 2$ has real roots $\checkmark=1$ and $\checkmark=2$ and can be written as $2+x-x 2=(x+1)(2-x)$. Therefore, we use Euler's substitution III and from it we get the following equations:

$$
\begin{gathered}
\sqrt{2+x-x^{2}}=t(x+1) \Rightarrow \sqrt{(x+1)(2-x)}=t(x+1) \Rightarrow \sqrt{2-x}=t \sqrt{x+1} \Rightarrow \\
\Rightarrow 2-x=t^{2}(x+1) \Rightarrow x=\frac{2-t^{2}}{t^{2}+1} \Rightarrow d x=\left(\frac{2-t^{2}}{t^{2}+1}\right)^{\prime} d t=-\frac{6 t d t}{\left(t^{2}+1\right)^{2}} .
\end{gathered}
$$

$$
\begin{aligned}
& \qquad \sqrt{2+x-x^{2}}=t\left(\frac{2-t^{2}}{t^{2}+1}+1\right)=\frac{3 t}{t^{2}+1} \text { using the fact that, we } \\
& \int \frac{d x}{x \sqrt{2+x-x^{2}}}=-6 \int \frac{t d t}{\frac{2-t^{2}}{t^{2}+1} \cdot \frac{3 t}{t^{2}+1}\left(t^{2}+1\right)^{2}}=-2 \int \frac{d t}{2-t^{2}}= \\
& \text { above integral as follows: }
\end{aligned}
$$

$$
\begin{gathered}
=-2 \int \frac{d t}{2-t^{2}}=-\frac{1}{\sqrt{2}} \ln \left|\frac{\sqrt{2}+t}{\sqrt{2}-t}\right|+C=-\frac{1}{\sqrt{2}} \ln \left|\frac{(t+\sqrt{2})^{2}}{2-t^{2}}\right|+C= \\
=-\frac{1}{\sqrt{2}} \ln \left|\frac{(t+\sqrt{2})^{2}}{2-t^{2}}\right|+C=-\frac{1}{\sqrt{2}} \ln \left|\frac{t^{2}+2+2 t \sqrt{2}}{2-t^{2}}\right|+C
\end{gathered}
$$

We express the fraction under the logarithm by x and, simplifying,

$$
\int \frac{d x}{x \sqrt{2+x-x^{2}}}=-\frac{1}{\sqrt{2}} \ln \left|\frac{2 \sqrt{2} \sqrt{2+x-x^{2}}+x+4}{3 x}\right|+C
$$

we get the result.

## REFERENCES

1. Z.Zaparov, R.Jo'raqulov - "O‘qitishda tajribalar: Soddalik va qiziqarlilik" Academic research in educational sciences volume 2 | ISSUE 2 | 2021, 700-706 betlar.
2. БА Кулматова, ДА Буранова, ЗА Запаров.- Способы защиты от интернет-мошенничества, Научно-методический журнал Academy 2019 г 7880 ст.
3. З.Запаров., Б.Эгамбердиева «Адаптивная система обучения» Перспективы развития науки и образования в современных экологических условиях с. Соленое займище, 18-19 мая 2017 года. 1054-1056 ст.
